Algebra Review for GEOMETRY HONORS

Le
ave all answers as an EXACT answer. Do not round! This means you will have rational answers (%), radical answers (va), and

ans i ; :
Wers in terms of nt (am). In Geometry Honors you will be required to leave your answers as EXACT values unless you use right

tri :
riangle tngonometry {SOH-CAH-TOA). That means 90+% of your answers will be exact answers. It is important to practice number
Sense for this reason.

Objective 1: Solving equations.

1) Solve each equation.
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Objective 2: Linear equations.
3) Find the slope of the line.
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4) Gr aph the
fOIIowin i rai I'( f r raph I ofa ne
g equations on the coordinate planes p ovided. Be familiar with grap ing anyfo m i
ine.
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) Write the equation of the line in slope-intercept form using the given information.

3
a) slope = v y-intercept is (0, -5)
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Objective 3: Systems 0

6) Solve ea
a) y=2x+5
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7) Solve eac
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h system of equations by the elimin

b) slope = -3 and passes through (4,-3)
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8
) Solve each system of equations by the graphing method.

Y=5/2x-8 \ (2,-5)

Objective 4: Quadratic equations and expressions.

9) Factor the éxpression completely.

a) v’=19v + 90

b) 52°+38a-63 = ( p 19 X Ba-] )
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10) Solve the quadratic equation or proportion by factoring and using the zero product property. Hint: Use the AC
method.  MUST EQUAL ZEKO Figs [

a) xz+6x+8=°) b) X’ +5x+6=0-3x  ZX"IBXFL=O
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1) Solve for x using the quadratic formula. Hint: x = —2X¥2"—4ac
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12) Solve the equation and express your answer as an EXACT value.
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Objective 5: Radical Expressions
13) Simplify the radical expression completely. Leave your answer in simplest radical form.
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Objective 6: Simplify algebraic expressions.

14) simplify eqch algebraic expression.
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